Division par 10° (C)

86 =+ 103

85 +~ 103

14 + 103

52 +10°

77 =103

83 + 10°

52 = 103

67 = 103

68 =+ 103

84 =+ 103

Trouvez chaque quotient.

72 +10% =

48 - 103

56 - 103

70 =103

27 +10% =

90 - 103 =

40 +~ 103 =

70 + 103 =

52 =~ 103

55+ 103 =
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Division par 10° (C) Solutions

86 + 10° = 0,086

85 + 10° = 0,085

14 +10°=0,014

52 +10°= 0,052

77 +10°=0,077

83 +10° = 0,083

52+ 10°=0,052

67 +~10°=0,067

68 + 10> = 0,068

84 +10°= 0,084

Trouvez chaque quotient.

72 +10°=0,072

48 = 10° = 0,048

56 + 10° = 0,056

70 +10% = 0,07

27 +10°=0,027

90 + 10° = 0,09

40 = 10° = 0,04

70 +10°=0,07

52 +10°=0,052

55+ 10° = 0,055
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